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1.What is the reduction in capex given the move to unified backhaul architecture and the introduction of
Ethernet?

A. up to 80%

B. up to 70%

C. up to 65%

D. up to 55%

Answer: B

2.Which option does the 3GPP defined Gx and Gy interfaces on the Cisco ASR 5000 enable?
A. small-cell support

B. circuit-switched fallback

C. AAA authentication

D. policy and changing control

Answer: D

3.Which access technologies are supported by Cisco EPC?
A. 4G and femto

B. 2.5G,3G,4G,femto,and Wi-Fi

C. 2.5G,3G, and 4G

D. Wi-Fi

Answer: B

4 By which estimated amount does the Cisco ASR 5000 integrated DPI and PCEF simplify the
network, ensure accuracy, and reduce the total cost of ownership in terms of OpEx?

A. 40%

B. 25%

C. 30%

D. 80%

Answer: A

5.Which option requires unlicensed spectrum for use as a small cell?
A. 3G microcell

B. LTE microcell

C. Wi-Fi

D. femtocell

Answer: C
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